STM RAGE 4 HD XP-TURBO/PRO XP/KP-TURBO “S” PRIMARY

@)
Q
8 =S 0O O Wiz e Y
#12 #13] #15 #16 #11 #24 #25 #26 #21 #29 m“

COMPRESSION TOOL SPANNER TOOL
SKU: 1001122 SKU: 1001069

Check and make sure you have received all of the components below before proceeding

’GC;- ‘A #25“ [ H

PART # 2001297

s |

#1 #§ #83

O . SOLD SEPARATELY

—

== ni

fnona

ITEM # PART # DESCRIPTION QrY
1 2001253 RAGE 4 HD PRIMARY CLUTCH MOVABLE SHEAVE 1
2 2001298 TAGE 4 HD FIXED SHEAVE AND POST ASSY 1
4 1001138 RAGE 4 SCREW-ON HD SPIDER (Torque to 500 ft/Ibs.) 1
5 3001005 SPIDER NUT RAGE PRIMARY (Torque to 550 ft/Ibs.) 1
6 1001037 RAGE 4 & 8 LONG BOSS HD PRIMARY CLUTCH COVER 1
7 1001651 COMPOSITE ROLLER-BUSHING STYLE PIN ROLLER KIT RAGE 4 & 8 SPIDER NON-WIDE 1
8 1001262 RAGE PRIMARY RETAING BOLT-M14-1.5x9.125" (Torque to 60 ft/Ibs.) 1

8.3 2001343 PRIMARY M14 RETAINING WASHER for .760 POST BORE & STEEL WEDGE LOCK WASHER 1|
12 1001403 30mm SCREW-ON BELT SHIM .03 THICK 4
13 1001189 STM CLUTCH PULLER FOR STM PRIMARY (55-18) 1
15 2610 / VH193 2610 MOVABLE BUSHING W/ RETAINING CLIP 1
16 1810 / VH131 COVER BUSHING W/ RETAINING CLIP d
17 1001561 %420 x 1%2"HHFS PRIMARY RAGE 4 COVER SCREW SET (Torgue to 125 in/ibs) 1
24 1001091 TRA SPRING SPACER 2
25 €152994 SCREW-ON HD SPIDER SHIM.03 THICK FOR 1.875” DIA POST (4) 2
25B C166597 SCREW-ON HD SPIDER SHIM.06 THICK FOR 1.875" DIA POST (4) 2
26 1001092 SPRING SPACERFOR PS STYLE SPRINGS FOR SCREW-ON PRIMARY 1
27 1001094 PRIMARY CAM ARM POSITIONING ADJUSTMENT SET SCREW SET 1
28 1001122 RAGE SNOWMOBILE & UTV PRIMARY COMPRESSION TOOL 5/8"-18 (SOLD SEPARATELY) 1
29 HIGHLIGHTED IS USED CONVERSION PIN OPTIONS (Below)

1001321 CAM ARM PIN CONV. 5/16” FIXED PIN FOR .470 WIDE WEIGHT

1001319 CAM ARM PIN CONV. 5/16" FIXED PIN FOR .570 WIDE WEIGHT

1001326 CAM ARM PIN CONVERSION 8MM YAMAHA PIN .570 WIDE WEIGHT

1001322 CAM ARM PIN CONV, 5/16” NON-FIXED PIN FOR.470 WIDE WEIGHT

1001320 CAM ARM PIN CONV. 5/16” NON-FIXED PIN FOR .570 WIDE WEIGHT

**PLEASE VISIT WEBSITE FOR ITEM PRICING**

STM Powersports
(248) 673-8408
WWW.Sstmpowersports.com 7/13/23



https://stmpowersports.com/stm-rage-4-hd-xp-turbo-primary-clutch-movable-sheave-for-clutch-assembly-2001297/
https://stmpowersports.com/stm-rage-4-hd-xp-turbo-pro-xp-xp-turbo-s-fixed-sheave-assembly/
https://stmpowersports.com/rage-4-screw-on-hd-spider/
http://stmpowersports.com/spider-nut-rage-3s/
https://stmpowersports.com/stm-rage-4-8-long-boss-hd-primary-clutch-cover/
https://stmpowersports.com/composite-roller-bushing-style-pin-roller-kit-for-stm-hd-rage-4-8-spider-with-610-roller/
https://stmpowersports.com/stm-rage-primary-m14-1-5x9-125-retaining-bolt/
https://stmpowersports.com/primary-m14-retaining-washer-for-750-post-bore-steel-wedge-lock-washer-for-polaris-rage-4-hd/
https://stmpowersports.com/30mm-screw-on-belt-shim-03-thick/
http://stmpowersports.com/xp-turbo-stm-clutch-puller-for-stm-primary-5-8-18-thread/
http://stmpowersports.com/2610-bushing/
https://stmpowersports.com/1810-bushing/
https://stmpowersports.com/stm-snowmobile-primary-4-8-arm-cover-screw-set-1/
https://stmpowersports.com/stm-tra-spring-spacer/
https://stmpowersports.com/screw-on-hd-spider-shim-03-thick-for-1-875-dia-post-set-of-4/.
https://stmpowersports.com/screw-on-hd-spider-shim-06-thick-for-1-875-dia-post-set-of-4/
https://stmpowersports.com/stm-rage-primary-cam-arm-positioning-adjustment-set-screw-set/
https://stmpowersports.com/spring-spacer-for-screw-on-stm-rage-primary-clutch/
https://stmpowersports.com/stm-rage-snowmobile-and-utv-primary-compression-tool-5-18-18/
http://stmpowersports.com/cam-arm-pin-conversion-5-16-fixed-pins-for-470-wide-weights-set-screw-style-cam-arm-pins/
http://stmpowersports.com/cam-arm-pin-conversion-5-16-fixed-pins-for-570-wide-weights-set-screw-style-cam-arm-pins/
http://stmpowersports.com/cam-arm-pin-conversion-8mm-yamaha-pins/
http://stmpowersports.com/cam-arm-pin-conversion-5-16-non-fixed-pins-for-470-wide-weights-bushing-style-cam-arm-pins/
http://stmpowersports.com/cam-arm-pin-conversion-5-16-non-fixed-pins-for-570-wide-weights-bushing-style-cam-arm-pins/



